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Canaudates are requued to give therr answers in their own words as far as practicabio
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Figures in the nght hand mar&un indicate full marks,
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15 Minutes of extra hme has been allotted for the candidates 1o read the questions carefully
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This question paper ts divided into two sections — Section - A and Section - B.
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in Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark Darven

the circie with biueblack ball pen against the correct option on OMR Answer Sheet prowded !0 you
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheel; otherwise the result will be invalid.
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6. IS — 7725 T Gol7 g & (7T B v 2 ofe Aifa 8) L @ e 15 me &

GV & ST B g Sfifa g wve § g dd gelly gvi D T & (vtw F v s
F i &) forri & e 4 get a1 o dr &
in Section - B, there are 25 short answer lype questions (each carrying 2 marks). out of whch any 15

questions are fo be answered. Apart from this, there are 8 Long Answer Type questions (Each Camyng §
marks).Out of which any 4 questions to be answered.

7. [&h e @ gelagifas guavr a1 qanT qofaa affy &

Use of any electronic appliances is strictly prohibited.
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qUg -3/ SECTION-A

TS 1 /Objective Type Questions
T & RE g @ w g Rr v T 4 o 2 v 58 &1 3

T ER R

ST 57 3
o T R  OMR - ¥z 57 AT 3 (sax1=50)
Chog \ .
| a fmm&rffu.rws. Mlﬂf"hﬁ'h 0!]‘_"081’ is correct. You have to Mdf*o]'l]llr!fffﬂd
l"’“”"- o the OMR - <y cet (50xd=50)
RS UM
.__./"" 251:1\ (OsS X lBl _,Slnx
) cos?y i
s X (D) SINX COSX
Il Y =
4 =0%- =
~t4) 15 ¥ I
. B8 15 =
(C) s D =
(0 4 <
£
nt\il.!ucofluhmr 1SI=0i\_ g
S s e
i’"’ 15 B)  -15 2
(€ 4 D) & 2
kX 1 2 4 o
TOE |1 3 6|IEAE - g
1 4 9
A 1 (B) -1
(C) 0 (D) 2
1 2 4
The value of the determunant |1 3 6] 1s-
1 4 9
(A) | (B) -1
(C) 0 (D) 2
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(A) -3 - (B |
-l R
& d1
> [—=—="
el
(A) L[Jn‘ll.pk y,/ }m 15*1
16 11
1 RE Di ! '120-k
(€ :Un 1:+k v 'un r

6. nafyhm 3 3 3 7 sy ST e 2
(A) yde- (P +y'idy =0 A (xy)dx - (x* ¢+ ¥ My = 0
() (2x+y=Ndy - (x4 2y -3)dx =0 (D) (x = y)dy = (x* +y+ Iidx

Which of the following 1+ 3 homopenoes dfforeatial cquatxn ®
Ay ydi-(x'+y'My=0 B (- (P ytdy =0
(C) (2x+y =3y —(x 4 2y - Iudx = 0 (D (x-yMy = (a2 ¢y ¢ 1)dx

1. am197+45]-6k @ wow ¢
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(A) \'m 1.1] \’-{-2-6
© VA Va2
The modulus of the vector 191+ 5] <6 ks -

{A) \'m 'l" \"_20
‘C' \'ﬁ lD' \-ﬁ
[ra=>

A b'-a’ (B) g -»
-~ 3 2
(0 ai-b? (D) v -’

2 b
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I - Ls o I r'\“rl)
T2 = == Ve A, A - BoFT BT E

W) TH-UF (THF) (B) Wi

f1xy) = f[\:! =D x=x2V, X3 € A. then what type of a function 1s f:A—

(A) One - one (B) Constant

() Onto (D) Many one

nﬁ:A:i g gl.mﬁmmamxaﬁwm?

(A) 2 1 3] (B) 5
5 4 6 1 2

(Cy 1 4 (D) 3 6

)y 2 5 2 5
3 6 1 4

IfA= Ii g 2 . then which onc of the following is equal to A”?

J,ef Iog% (D) log;

5 6 1 2
© [} g (D) g
2
3 6 L1
[3="
3
(A) Iog§ - (B) log3
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~
AT sin~! —= (B) o
© 1Y (D) L1+
l‘f’l: un 1-!1
Il -l<x< |, then 2tan 'x =?
(A) -1 ® oy &K
sin T+17 s —_I....'J
(C) gin-1 1 -x? [11]) 14 !
14+xd e 1-xd
13. {.A B smowe w32 gm of -
(A) f(A)cB - {(A)=B
() fiA)oB m f(A)eB
f A = B will be an onto fenctos of -
(A) f[(A)cB (» ftA)eB
(C) f[(A)>B (11]] ftA)»B
14 af p(A) = ;. P(B) = ;. PANB) = #PAUB) ="
(A) 3 ® !
: m/
1 4
(™) ; ;
I(P(A) =2, P(B) = ;. P(ANB) = {. dea PAUB) =
(A) 2 (B) 2
b | 3
oo ! m 3
2 |
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(A)  waw s g p ) awfa ot AN ¢

J}p/ ity B

(0 g A P il

In the set of afl straight lines in a plane, the relation R "o be perpendicular” 15 -

(A) Reflexive and transitive m Symmetne and transitive

(C) Symmetric

(D) None of these

16. [sIn20° —cos20°

sin70”  cos70°

o aad R -

(A -1 m -
-AC) 0 (D) 2
. f;llﬂnxl =7
(A) ! (B) 1
- X xf
(C) | (D) _';
18, °
s sin’xdx =2
(A) -1 -(B) 0
(O) | (D) ‘:_'
19. Jj cosxdx = ? )
N - B 1
(©) ; m o0
20. d-d;[sin" x+cos™'x] =7
.'; ’ l
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2l. PAUR) =2

AY A +PBY+ (A AB) M AP -PAANR)
O PAYPBY-MAAR) (D) PA)-PB)+ PAAND)
22, d
Ellanxl:?
~AAR)  secly (M secx
(C) cot x M”m  -secix
23,
I TT L 4y secx = tanx @1 W ToHE € -
(A secx +tanx n secx — tanx
(€)  secx (D)  tanxsecx

Integrating factor of the differential equation :—:- +ysecx =tanxis -

(A)  secx+tanx (B) secx—tanx

(C) secx (D)  tanxsecx
2 N |

sin™! = =7

X

(A)  sec™'x By~ cosec™!x

(C) tan~1x (D)  sinx
5. kxk=12

(A) 1 ® -l

(C) k? \(9/

26. zfR sa*b=2a+bA AT &), A (2+3)+428 -
( 18 (B) 17

(C) 19 (D) 21

The operation * isdefinedasa*b=2a+b,then (2+ 3)* 4 is -

(A) 18 (B) 17
© 19 (D) 21
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27. afd a=i )42k B b= 142 kKt m (.i A “") (2_;' h) PARLIE
s m 1
© gy o
I =4 42Kand b=3 1427 =K, then the value of (i +3 h).(24- b)ie-
A s @ 18
L& TN m  -S

28, dy

S o Y €OsX = sinxcosx & AAA o g -

(A) e N ‘Lm/ st x

() e~osx D) . et

Integrating factor (LF) of the differential equation :,"E — y cosx = SINXCOSX s
(A) e-sinx ‘(/w/ osinx
(C’ e—COSX (D) eCOS X

29. [x"dx,(n=0)="?

{.r‘) x"-! x"*!

otk ot
(C) x"* 4k (D) x" 1+ k

© 2 _af 0

31 %[sin"x]:?
1 -1
W R

1
© 7=
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A2 U TR 70
b1 i b4 I ™
“l'- \| ! )] ]l llﬂ '\|
(A iv= -2 v= ¥y m fy=2 = a4y
iy TR ST () ig=-1y=060
i 4 1 ¥ 70
1 Zl l : !-'I . then
5 x *ln || 10 I ¥
(A) (vm -2y =8) n) (x=2y=-%
() I'l.:tg:—h! (M Il:—]_)‘:fll
XN M=
(A) n(E) + n(S) (B) sy
niE)
(€©)  n(E) - n(S) oy om
nis)

M o7- 3w A Re Pom R -
(A) 0.0.0) (B) (1,0,0)

EEE 010 M.U.U

The direction cosines of z-axis are -

(M (0,0.0) (B) (1.0.0)
(€)  (0.1,0) M  ©0.0,1)
35 Prerfafea sraggl 4 @1 313 w0 B @ie IR ¥R

(A) 1 0 0 ( 1 00
100 & 0 1 ol
1 0 0 001

(C) 0 0 1 (D) 010
0 0 1 010
0 0 1 : 010

Which of the following is the unit matrix of order 3 x 3?

(A)

woo Apnisqasq-mmm//:dny

1 0 0 (B) 1 0 0

1 0 0 010

1 0 o 0 0 1

(C) 0 0 1] (D) 0 1 0

0 0 1 01 0

0 0 1 0 1 0
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AT x4 (") tan’ x + ¢
(C) ol x 4 ¢ 1) —-cnt Ty ¢
37 1ag (x, y. 2) m1 flafy wfen p -
N Xioyj-zk B xityj-zk
© xi-yj+zk ) xi+yjezk
The position vector of the point (x, y, 7) 1s -
(A) xi-yj-zk By xi+yj-zk
) xi-yj+zk (D) xi+yj+zk
. 5 (3 4 5) 1 x - 3m A 7h -
(A 3 B S
© Vil My pma g af
The distance of the point (3, 4, $) from v-axis is -
(A) 3 (B) 5
() val (D) None of these
39, | _1( 1 ) ,
5N - =i
V2
W T ® _T
4 3
(C) i Mm _"
2 2
40. ,_[3 6] o_[7 8 n
a=3 S)B=[l o] =2a+3m=
(A)  [27 24 B [27 36
22 10 25 10
(€  [27 36 (D) [:1 36]
25 15 S 10
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W Jooeecidy =
LY tany 4 ¢ B —goty 4 ¢
L8] Jenueg x4 ¢ M ~dronee X 4 ¢
€ mryatiam-n y=leu-% @ Ay (2 .1) T vod Yoy @ gTem R -
iA) L (R) -
p 5
- ) 1

——
- *

7

The slope of the tnpent sothe curve x = 17 + 3t =8, y = 2t — 2t - § at the point (2
(A) 1 (8) -

b

(Ci ; (D) 12

7

4Q W () = 250 b w g -

ILE

(A) i (B) 1
|
AC) ¢ (M 1
The maximum value of f(x) = 5'—' is -
(A) [ (B) 1
[ ]
(Cy ¢ (D) !
L}
4., pn'sect'an?
(A) 0 (B) 1
c_—" m _"
2 2
45. P(A)+PA)=?
(A) 0 A8 1
(&) -1 (D) ME)
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46, -
7 A | ll
/ y x
) ey B a-y
G -y o =%

o 1 -1
Evaluate I!f' XI

woo Apnisqasq-mmm//:dny

(A) L4y (B) x-Y
(€C)  -y-n (D) l-x
a7 [ sinx cosxdx = ?
W |’ 2
] / 4
C ! l
(L) ; Jn] ;
48, i d? dy\ 3
mmmi‘rmﬁ-;ﬂ(i) =x' AP -
a1 sy 2
(€) 4 (D) 3
The order of the differential equation &y +x3 (91)3 =x*is-
“q dx? dx '
(\) 1 —(B) 2
(C) 4 (D) 3
49' 1-& =9
0 14x2 )
(A) -2 —(B) s
4 4
© = ~ D) -2
2 2
50. [secxdx="?
(A)  log|secx|+¢ _(B log secx +tan x| + ¢
(C) log [secx —tan x| +¢ (D) secxtanx4c
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Yvs —q/ SECTION-B

LS W% / Non - Objective Type Questions

9Y_STNIY 99 / Short Answer Type Questions

YT TR 1 25 0 T Gern &) Rl 15 et @ a3 a0 B R 2 90 P
21 (15x2=30)

Question No. I to 25 are short answer type. Answerany 15 questions. Each question carries
2 marks. (15%x2=30)

R R R % [ f(x) = (3-_-¢3)1. C @ g &6 (foh (v =x

IFF:R = R such that f(x) = (3 - x“)%,lhcn prove that (fol) (x) = x
Frg X b - (2)

Prove that -

a

sec’(tan™'2) + cosec?(cot™13) = 15

3 R & fF- (2)
Prove that -
tan~'vx =§ cos"%:—:
$ fg m™ - (2)

Prove that -

[coslS" sin 15°] _
sin75° cos75°

5. WRPE B AR TR A - (2)

Evaluate the detcrminant -

4 9 7
[3 5 7]
s 5 4 5

J//x&ﬁ?)'mqﬁﬁmﬂﬁ'— (2)

Find the value of x and y if -

2o+ 2l=l5 s

woo Apnisqasq-mmm//:dny
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2
7 A [q 4I-.r:*n ) ] AR R
m:[-2 and B = 6 . 4| find AB
d\ ‘2]
8. ﬁim-‘n afd y = cosvsin x
Fmda{ il y = cosvsin x
9. dy (2)
' 'd—’f#mi af y = Vsinx
X
Find %if}‘ = vsinx
. - (2)
10. E frard aft y=cos"tT:;
Fmd--n'y = cos™! — ::!z
A dy : 2
\/”- -Ei @ af y = sin?x cos®x (2)
["I_nd% il y = sin’x cos®x
W %—i frard o y = tan(x + y) @
dy .
Fmda; if y = tan(x + y)
137 71 P - @
Evaluate -
| J cot?x dx
14w P - Q)
Evaluate -
J V1 +sin2x dx
\/ . " P - Q)
Evaluate -
e
J3 cos? x dx
(121/327) F Page 14 of 16
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16, £d # -
Solve -
\l'ﬁ vy

=
dy

l’. F\q '}‘{ =

~

Solve -
Xdy + ydx = 0
18. £ N -
Solve -
) :—:%H-cotx:zcosx
DAL
Prove that -
IR R T A
A af 3=27-37-5k @ b= -7i+6j+8k W@ aAx b A F
If 3= 27-37-5k and b= ~77+6]+8Kk . find3x b
27 R = (2,3,-5) IR b= (2,2,2). @ Rrg 3 e 3 IR B TR 7 ¢
If3=(2.3,-5) and b= (2,2,2) , then prove that 3 and b are mutually perpendicular.

2. 7™ ﬁg AR @b.o) A QA IR hitp://www.bsebstudy.com
Find the distance of the point (a. b, ¢) from the ongin.
23, 9O ad & W o e A g (1, 2, 3) A o @ R T Ix+dy-52=0 3
TR B
Find the equation of the plane through (1, 2, 3) and parallel to the plane 3x + 4y - 5z = 0.
24, IR G B B A FWR AT JS F1 A 8 AR A 7@ wiE 8, afk e @ e
A U W EA 4 T R

Two dice are thrown. Find the probability that the numbers appearing have a sum 8 if it is
known that the second die always exhibits 4.

/zrﬁr P(a)=2,P(8) =2,P(AUB) = . A P(ﬁ) au PG) Pramdl |

I P(A) =2,P(8) =2,P(AUB) =2, then find P (£) and P (5)

(2)

2)

2)

(2)

@)

(2)

2
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. ad gada ww / Long Answer Type Questions
w¥T e 26 #mwﬂdwﬂamﬂmwﬂﬁmmmf?stm
Rt &) R « ¥t &1 IR 3/ (4x5=20)

Question Nos. 26 to 33 are long Answer Type Questions. Each question rarms{ : :;m;;:
wy=

Answer any J questions.

.3). (8)
2. Smtw sw ae Wi @ A [0, 4] A ofta w6 G (0 = (WD) (x2) (% h.

: = (x-1)(x-2
Verify Lagrange's Mean Value Theorem in interval [0, 4] , where function f(x)=(x-D(x-2)

(x- h

27, Y prerd a2 x +y=sec’ (x-y) ®
dx
FmJ-E dfn+y=sec! (x-y)
28, FEEHEFA X - (5)
Integrate -
xe'
j“ﬂ]z dx
. Riz TR - (5)
me,clhal -
- \C(.'Il!
/ U \colnv"uT
gt x? +y = a° T ATFA TN gR1 AFTe | (5)
md the area of the circle x* + y° = a° by integration.
LA Z’HT&?TSI+;+2km2:~2;+4k$ifm$Wﬂsinc§ﬂﬂﬁl 5
Find the sine of the angle between the two vectors 37 +j + 2k and 271-2] +4 k.
3 @™ - (5)
Prove that -
14a 1 1
I I 1+b 1 J:ahc(l #4249
1 1 1+
. AR T (Minimize) 2= - 3x + 3y (5)
W@ (subject o) x+2ys8
W+2ysiz http://www.bsebstudy.com
x20.y20 Whatsapp @ 9300930012
Send vour old paper & get 10/-
---------------------- I Y A fy 3R 10 w9 O,
Pavtm or Google Pay &
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